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*Tbyy— MA5108 4 DM 53 15000
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-Tbyy= MA5112 2 G/BK 50 15000

]
-Tbyy- MAbB136 2 BK/RD 56 15

>

*Tbyy— MAbB116 2 NV 54 15000

-Tbyy- MAB136 3 BK/SL 56 150

*Tbyy— MAS117 1 BK 47 15000

-Tbyy- MAb136 4 MBK/BL 56 1

*Tbyy— MAB117 2 LBLSS 47 15000

-Tbyy— MAbB137 1 BK 55 15000

*Tbyy— MAB117 3 GY 47 15000

-Tbyy= MAbB137 3 GY 55 15000

*Tbyy- MAB117 4 LPK 47 15000

*Tbyy- MA5137 5 WH 55 15000

*Tbyy- MAbB118 3 LBR 47 15000

*Tbyy- MAB138 1 BK 57 15000

*Tbyy- MA5119 2 DM 46 15000

-Tbyy— MAbB138 2 CLBR 57 150(

*Tbyy— MAbB119 3 GY 46 15000

-Tbyy= MAbB138 3 GY 57 15000

*Tbyy- MAbB120 8 BR 54 15000

4 K4 K4 K4 k4 B4 k4 B = = 0

*Tbyy- MA5138 4 NV 57 15000
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*Tlyy- MAbB122 6 PK 49 15000

*Tlyy- MA5123 1 BK 52 15000

*Tbyy— MAL124 3 WG 54 15000

*Tbyy— MAB125 3 WG 54 15000

*Tbyy= MAL126 3 WG 54 15000

*Tbyy- MAbB127 1 BK 46 15000

*Tbyy— MAL127 2 DM 46 15000

*Tbyy= MAB127 3 GRN 46 15000

*Tbyy— MAB127 4 CL 46 15000

*Tbyy- MAB128 1 BK 47 15000

*Tbyy—- MA5128 2 DM 47 15000

*Tbyy— MAB128 3 GY 47 15000

*Tbyy- MAB128 4 KH 47 15000

-Tbyy- MA5129 1 BK 44 15000

*Tbyy- MA5129 2 DM 44 15000

-Tbyy= MA5129 3 GRN/DM 44 150

-Tbyy= MA5129 4 BK/DM 44 15004

Tbyy- MA5132 2 MBK/MRD 58 1§

*Tbyy- MAbB132 4 BR 58 15000

*Tbyy- MAb5133 4 DBR 51 15000

*Tbyy- MA5134 1 DM 48 15000

*Tbyy- MAbB134 2 BR 48 15000

*Tbyvy- MA5134 3 BK 48 15000
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*Tbyv- MA5136 1 BK 56 15000

g >3 g g 1og 1nd 1g KO 1nd FO) KO) KOl g 1og 1ng FO) 1bg 1nd §ng 103 KO) KO) 13 1nd 1ng 1g 10g) g KO) 1ng 12g KO) g i




